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1m?2 = 10000 cm?
9m? = 90000 cm?
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HET 290000
HED 29000000
HED 340000
HE D 3400
HE D 34

1km? = 100 ha = 10000 a = 1000000 m?
(1) 29 km? = 2900 ha = 290000 a = 29000000 m?
(2) 34000000 m? = 340000 a = 3400 ha = 34 km?
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9ha = 900a = 90000 m?
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> ZE: 0.001kg
> HE ' 0.000001_t

1g=10.001kg
0.001 kg = 0.000001 t




C R AR stel UehZle] 7bE e AL ol AU

Jgzel £

Arpge] 7

Ygo| 77

=a7)0] 7
E

2 Bepe] 2ol 77

®
@
®
@
®

et

1t=1000kg 2 2 FAE A ) A-851= 7 el
datd AL @YU,




.I

vV Vv
%
n

0.
1)

f: 3500ha

7km X 5km = 35km? = 3500 ha




@ 4m = 400 cm @ 70000 cm? = 7m?
@12 m? = 12000 cm? @ 480000 cm? = 48 m?

® 630000 cm? = 63 m?

® 12m? = 120000 cm?
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® 350m? =35a @ 5.6km? = 5600 m?>

® 3700a = 3.7ha @ 17t = 1700 kg
(@)23000000 g =23t
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@ 350m? = 3.5a

@ 5.6km? = 5600000 m?
@ 3700a = 37ha

@ 17t = 17000 kg
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@® 0.02km? @ 0.2ha (3)2000a

@ 20000 m? ® 2ha
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@D 0.02km? = 2ha

® 2000a = 20 ha

@ 20000 m? = 200a = 2ha
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@ 0.56 km? O 800m x 200 m
© 0.48km x 270m ® 64ha
@ 5740a
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@ 0.56 km? = 5600a

© 800m x 200m = 1600a

© 0.48km x 270 m = 1296a

® 64 ha = 6400a

@ 5740a
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>
[> ®E D 15100kg

1t = 1000kg
2600 kg + 8200 kg + 4300 kg = 15100 kg = 15.1 ¢
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@ 12t700kg O 12t © 12t100kg

® 12080kg @ 11090kg

it

0%
m m

0
i

v vV VvV vV Vv vyvVYyYvVvyYYyYyypy
0 0
(i il

@ © W @ O

0
i

B

B e hoR A A ok
@ 12700 kg

© 12t

© 12t100kg

@ 12t80kg

@ 11t90kg
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12 x 12 = 144(m?)
— 1440000( cm?)
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300 x 300 = 90000 m?
=9ha + 2ha = 4.5(f)
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_-1600m- - _ _
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(A Hel)-(F A2 el ol ol )
= 1600 x 1000 — (700 x 1000 + 2 + 1000 x 400 + 2)
= 1600000 — (350000 + 200000)

= 1600000 — 550000 = 1050000( m?) = 1.05km?
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1. 7 £-2000000 g L. 6000000 g+5 t
. 4000 kg-+800000 g 2. 12 t-620kg
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1. 7t - 2000000 g = 7000 kg — 2000 kg = 5000 kg

L. 6000000 g + 5t = 6000 kg + 5000 kg = 11000 kg
T. 4000kg + 800000 g = 4000 kg + 800kg = 4800 kg
=
5

. 12t - 620 kg = 12000 kg — 620 kg = 11380 kg
== lleT=15
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0.6 km? = 600000 m? °]B.2

(% 2t 7He] Hel)= 600000 + 8 = 75000( m?
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300 x| | = 75000
[ ]= 75000 + 300 = 250( m)
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Y=(E 2] PAF)x1.5 =4 x 1.5 = 6(+t)

V=& AAE)%0.8 = 6 x 0.8 = 4.8(t)
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20. o J9 2 apE Bk o] BA = 25.2t YUt o] Ex
1la 9] FA= 2 kg dY71?

SR 9| Yol

=90 x 40 = 2 = 1800m? = 18a
25.2t = 25200kg

1a9] F7] = 25200 + 18 = 1400kg




